Mixed Operations with 3 Integers

Name: Score:

Solve the following mixed operation problems (don’t forget BODMAS)

(-12)+8x2= 25+(-5)+2= (—60) x 4 +2 =
7-(=5) = (-10) = 7+ (-8) + (-2) = 3+ (=6) = (-3) =
23+ (=5)+ 5= (—12)+6x2= 29+ (=6) =3 =
(-20) = 5x2= 9-(=5)x (-25) = (-24)+8x2=
(-99) =3 +2= 4% (=5) = (-10) = (-50) + 5 x2 =
23+ (-9)+3= 6 - (-6) + (~10) = 3-(=5) = (-10) =
99 - (-5)x 3= (-31)-3x2= 10 x (-2) + 3 =
(-12)x 8-9= (-12)+6-2= (-26) =2+ 11 =
(25)x2-1= 9+ (—8) + (-10) = 1 -(=5)+(-5) =
20+ (-5)x 4= 50 x (-9) + 3 = 75+ (-5)x 3 =
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Answers

Solve the following mixed operation problems (don’t forget BODMAS)

(-12)+8x2= 3 254 (5)+2= 225 (—60)x4+2=-120
7-(-5)+(-10)= 6.5 7+(-8)+(-2)= 11 3+(=6)+(3)= 5
23+ (=5)+5= 22 (-12)+6x2= -4 29+ (-6)+3= 27
(-20)+5x2= -8 9-(-5)x (-25)=-116 (24)+8x2= -6
(-99)+3+2= 31  4x(-5)+(-10)= 2 (-50)+5x2= -20
23+ (-9)+3= 20 6-(-6)+(-10)= 2 3-(-5)+(-10)= 2.5
99-(-5)x3= 114 (-31)-3x2= -37 10x(-2)+3=  -17
(-12)x8-9= -105 (—12)+6-2= -4 (26)+2+11= -2
(25)x2-1= 51 9+ (-8) = (~10)= 9.8 1-(-5)+(5)= 0
20+ (-5)x4= 0 50x (-9)+3=-150 75+(-5)x3= -45



